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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - III - EXAMINATION - WINTER - 2016

Subject Code: 3336306 Date: 30-11 - 2016
Subject Name: ELECTRICAL CIRCUITS
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €2HIl SlEUBRL Ulcloll scllol AU,
Define (1) Node (2) loop

cull AU 1) olls ?) U

Define (1) RMS value (2) Cut-off frequency

(AL AL 1) WR.AHAY Q) 52 wl§ g
Give laplace transform equation for unit-step function.
Y2 RWM 5900t HI2 Ay S .

What is active filter? Give example.

Asdlal (Fe2 oll W UHABA A GLULRL AW
What is passive filter? Give example

Qalal (3e22 oll el AHeSA Al GURRL AW
Give any two definations of power factor.

ulaR %522 ofl 5165 UL 6l caytuul a4l

Give statement of norton’s theorem.

sl YIARH ofl cautvul 2.

What is instantaneous value? Explain with waveform.

AlsUAS (EHA A Qg AL YHxLAL

W & ©® 6 N 1 o £ U X A W W U N oS

State kirchoff’s voltage law.

(3uls clceos ol (A v,
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If R1 and R2 are connected in series and parallel, give it’s total resistance.
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% R1 Wl R2 AR WA AHIAR Hi Ss1A dlal A s WAAY ol (5uct
secll sQ?

Explain open circuit, close circuit and short circuit connection.

W Uotl 503, Wl e UlSe ofl Rl Urs A

OR
Explain kirchoff’s current law in detail.

(3As 530t oll [AauH UHMA [QctlR M.
Explain RL series circuit with response.
Rt A RL AR AlSe AHestAl.

OR
Explain RC series circuit with response.

R A RC Al ule AxosAl.
Explain superposition theorem with proper example in detail.
(AR Hl etwetl AUA YuR W(DBelet lallRy AHstal.

OR
Prove Rs=R. for maximum power transfer theorem.

AsAYHH UlaR 2lortsR lRARY HI2 U(Ad 5A R.=R,.

Determine the current flowing through branch BE from fig.(1) by
superposition theorem.

YuR WRalet lulRH oll [ ciudlal dedl s3oct wlled BE Higll

AR UL .

OR
Determine the current flowing through branch CD from fig. (2) by
Thevenin’s theorem.

At YA ol [AaH cAuilal 32 $30cl tllod BE HIYl AR

A B,

Explain in detail power triangle.
R [Aslal (AR Hi AHestAl.

OR
Define (1) Form factor (2) Peak Factor (3) frequency

cluul AL 1) S FseR 2) Uls ¥seR 3) gl
Explain series resonance and prove that f=1/2nvLC

A0 WA UM WA AU $ f=1/2nVLC.
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OR
Define (1) Passband (2) Stopband (3) Filter

CULBAL WIUL, 1) UM 0loS ?) RWU Alos 3) (3ee?
Explain parallel resonance and prove that fo=1/2r*(v1/LC-R%/L?)

AHAR A UHXA WA AAA 8 fo=1/21* (V1/LC-RZ/L2).
OR

Prove for unit ramp function L[r(t)]=1/s2

Aol 5A 3 Ylle 31U §520t HR L r(t)]=1/s>
Explain thevenin’s theorem in detail with example.
ARt RARH (ARl Hi AHAA ElHEAL A,

OR
Explain intial conditions of resistor,inductor and capacitor for response
circuit.

Rl AlSe 1 23vtldl GRall wlQAy, BosseR ual 3URERR ol

sl

Explain low and high band pass filter.
Al W sLE5 WA ($e2R AUl

OR
A RC series ,low pass filter requires a cutoff frequency of 10KHz.Use R=10KQ,
find value of C.

RC Al ulSe A W (3eer Ui s2 ws wg@ ol (U 10kHz. B.
R=10kQ & l C ofl (5uct MWL

State the difference between series resonance and parallel resonance.
AR WA UHIAR AR AR dAslald AL

OR
Classify filters in detail.

(Bced of Qe ol colls 53

Derive equation for star to delta transformation.

2R 8l 3l 1l 3cal 12 ol (D3] cwl.

Explain in detail series and parallel connection of resistor.
AR A UHIAR HL BSIRAA YA (Qctiel Ul

Explain in detail reciprocity theorem.
RRUREL Ll (Al dHsAl.

Explain Mesh analysis and nodal analysis in detail.
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AY A AlSAH oll [AaAH Qactrl UHs A

Explain transfer function of band reject filter.
Aos (3%52 (3R of 2lor$R §52et UHALA.
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